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WIRRE. LEAKKENEE

=& AR EFith -3

W B R KL FWL 67.2|(m)

LS EL 59.6((m)

=8 IKi%E : H=FWL-EL 7.6|(m)

WETKE:V 88,600((m3)

KTt = (Costa): Qp 275.26|(m3/s)  |Qp=325(H-V)°*

JRigmiE:A 0.0510{km?2

/K ETE: A2 0.0167|km2

r=a/(t"+b)

1 F R = £181Fr A%

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

AR E B BF et 20| %> Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 20(%> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 150.6|{(mm/h)

HKFEE—Y:Q 1.9((m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 2.28|(m3/s)

]

0

A
I E A
BOKEE

() EE IR SIP4

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 275.26 1.9 2712
1 228.45 1.9 230.3
2 189.60 1.8 191.4
3 157.35 1.8 159.1
4 130.59 1.8 132.4
5 108.38 1.7 11041
6 89.95 1.7 91.6
7 74.65 1.7 76.3
8 61.96 1.6 63.6
9 51.42 1.6 53.0
10 42.68 1.6 44.2
11 35.42 1.5 36.9
12 29.40 1.5 30.9
13 24.40 1.4 25.8
14 20.25 1.4 21.7
15 16.80 1.4 18.2
16 13.95 1.3 15.3
17 11.57 1.3 12.9
18 9.61 1.3 10.9
19 7.97 1.2 9.2
20 6.62 1.2 7.8
21 5.49 1.2 6.7
22 456 1.2 5.7
23 3.78 1.2 4.9
24 3.14 11 43
25 2.61 11 3.7
26 2.16 11 3.3
27 1.79 11 29
28 1.49 11 2.6
29 1.24 11 2.3
30 1.03 11 2.1
31 0.85 1.0 1.9
32 0.71 1.0 1.7
33 0.59 1.0 1.6
34 0.49 1.0 1.5
35 0.40 1.0 1.4
36 0.34 1.0 1.3
37 0.28 0.9 1.2
38 0.23 0.9 1.2
39 0.19 0.9 1.1
40 0.16 0.9 1.1
41 0.13 0.9 1.0
42 0.11 0.9 1.0
43 0.09 0.9 0.9

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0167 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0343
7KH 100
M 200
E 70
‘it 0.0510
Taf I 218
IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0167 A FHEEH 720 M | P33
(L 0.80 | 0.0343
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0510
Taf I 0.87

-1

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 20.0 150.6 131.02 0.182 20.62 149.6 1.0
2 20.1 150.5 130.94 0.182 20.62 149.6 09
3 20.2 150.3 130.76 0.182 20.62 149.6 0.7
4 20.3 150.1 130.59 0.182 20.62 149.6 0.5
5 204 150.0 130.50 0.182 20.62 149.6 04
6 20.5 149.8 130.33 0.182 20.62 149.6 0.2
7 20.6 149.6 130.15 0.182 20.62 149.6 0.0
8 20.7 149.5 130.07 0.182 20.62 149.6 -0.1
9 20.8 149.3 129.89 0.182 20.62 149.6 -0.3
10 20.9 1491 129.72 0.182 20.62 149.6 -0.5
11 21.0 149.0 129.63 0.182 20.62 149.6 -0.6
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 20.0 150.6 150.6 150.6 1.9
2 40.0 1245 249.0 98.4 1.2
3 60.0 107.3 321.9 72.9 0.9
4 80.0 949 379.6 57.7 0.7
5 100.0 85.4 427.0 474 0.6
6 120.0 77.8 466.8 39.8 0.5
7 140.0 71.6 501.2 34.4 0.4
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B [RERE[HKRE[LEMNRRE x-1 REREfETEEEELRC
=B NGt &% (min) | Q1(m3/s)| Q2(m3/s)[ Q1+Q2(m3/s) o RRE C | #iftkm2) %
B B KL FWL (m) 0| 502.46 75.9 578.4 =it 70 | 0.0300 RerHESt T2 M P33
S EL (m) 1| 43312 75.4 508.5 (L1 290 | 3.6700
T=8H K% : H=FWL-EL 13.9{(m) 2  373.34 74.8 4481 KH 100
HRRTKE:V 203,000((m3) 3| 32182 74.3 396.1 Bt 200
BA7HE(Costa):Qp|  502.46/(m3/s)  |Qp=325(H-V)** 4| 27740 73.7 351.1 EH 70
TISEHE:A 3.7000|km2 5| 239.12 732 3123 &at 3.7000
KERE: A2 0.0300|km2 6| 206.12 72.6 278.7 TETY 288
r=a/(t"+b) 7| 17767 721 2497
HAREEAR HEF 8| 153.15 715 224.7 TR RE f i %
ERRER N 0.85 9] 132,02 71.0 203.0 7 1.00 | 0.0300 RREHEEHT72 0 M i P33
EREERa 7359.61 10/ 113.80 70.4 184.2 i 0.80 | 3.6700
BEREERD 36.1 11 98.09 69.9 168.0 NG 0.75 | 0.0000
MR B 85|43 A 12| 8495 693 1939 e | 0% | oo
LAS 13 72.88 68.8 1417 g3 0.85 | 0.0000
REENERM:tc 854 f&%@?ﬁéﬂﬁ%@o 14 6283 083 1311 o ki
YT 15 54.16 67.7 121.9 i E 0.80
BRI R D P RRGREE : r 92.3|(mm/h) 16 46.68 67.2 1138
HAKFREE—Y:Q 75.9((m3/s)  [1/3.6-fr-A 17 40.24 66.6 106.9 £-2 HOKTERR
BREHHOKIREN.2Q 91.08{(m3/s) 18 34.69 66.1 1008 REDIERNHE| AREBE |FHERBRE oms | PKEIERRS _
19 29.90 655 95.4 (5 r(mm/h) |re=frrmm/m)| " to(min) k Rk
20 25.77 65.0 90.8 1 85.0 923 73.84 0.222 85.26 92.1 0.2
A 5 = 7 2 85.1 922 73.76 0.222 85.26 92.1 0.1
= r ' 3 85.2 922 73.76 0.222 85.26 92.1 0.1
) 4 85.3 92.1 73.68 0.222 85.26 92.1 0.0
J 5 85.4 92.1 73.68 0.222 85.26 92.1 0.0
= | 6 85.5 920 73.60 0.222 85.26 92.1 -0.1
7 85.6 920 73.60 0.222 85.26 92.1 -0.1
o 8 85.7 91.9 73.52 0.222 85.26 92.1 -0.2
9 85.8 91.9 73.52 0.222 85.26 92.1 -0.2
= 10 85.9 918 73.44 0.222 85.26 92.1 -03
5 11 86.0 918 73.44 0.222 85.26 92.1 -03
.
x-3 HKRE AIAEFER
| = ? f & [ t r In Q
: n ner
! (min) (mm/h) (mm/h) (m3/s)
< 1 85.0 923 92.3 92.3 75.9
7 2 170.0 64.1 128.2 35.9 295
: 3 255.0 50 150.0 218 17.9
\ 4 340.0 414 165.6 15.6 12.8
D 5 4250 355 1775 11.9 9.8
7 6 510.0 31.1 186.6 9.1 75
j — z 7 595.0 278 194.6 8.0 6.6
) ; |
=

= il =S WY
(C) El L #hEEfE SIP4 (C) CORE CORP. (C) m=hAtktd
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=& EEith -3

B KL FWL (m)

LS EL (m)

T=ithJKE : H=FWL-EL 12.2|(m) RBE-i#tkts

WETKE:V 60,000{(m3)

KTt = (Costa): Qp 285.09|(m3/s)  |Qp=325(H-V)°*

JRigmiE:A 0.6010[km?2

/K ETE: A2 0.0135|km2

r=a/(t"+b)

1 F R = £181Fr A%

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

AR E B BF et 52| %> Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 52|43 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 113.5{(mm/h)

HKFEE—Y:Q 15.2[(m3/s) |1/36-f-r-A

RETKIREN.2Q 18.24|(m3/s)

Bl [REBRE|HRKRE|LEXRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 285.09 15.2 300.3
1 21437 15.0 2294
2| 161.20 14.9 176.1
3 121.21 14.7 135.9
4 91.14 14.6 105.7
5 68.54 14.4 83.0
6 51.54 14.3 65.8
7 38.75 14.1 52.9
8 29.14 14.0 431
9 21.91 13.8 35.7
10 16.48 13.7 301
11 12.39 13.5 25.9
12 9.32 134 22.7
13 7.01 13.2 20.2
14 5.27 13.0 18.3
15 3.96 12.9 16.9
16 2.98 12.7 15.7
17 224 12.6 14.8
18 1.68 124 14.1
19 1.27 12.3 135
20 0.95 12.1 13.1

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRTE C |mEfikm2) s &
JitoXii 70 0.0135 R FHE R 7200 B G P33
(Lot 290 0.5875
7KH 100
M 200
EHh 70
‘it 0.6010
faf B 285
THIDRAE f [ (T
Pat;akiii! 1.00 0.0135 A FHEE 720 M | P33
(L 0.80 0.5875
KH 0.75 0.0000
Bk 0.53 0.0000
£ 0.85 0.0000
‘it 0.6010
faf S 0.80

REDEERRE| AFEE |(AHBRRRE gy | PUKENEESR _
t(5) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n

1 520 1135 90.80 0.206 52.49 1131 0.4
2 521 113.4 90.72 0.206 52.49 11341 0.3
3 522 1133 90.64 0.207 52.74 112.9 0.4
4 523 113.2 90.56 0.207 52.74 112.9 0.3
5 524 113.2 90.56 0.207 52.74 112.9 0.3
6 525 11341 90.48 0.207 52.74 112.9 0.2
7 52.6 113.0 90.40 0.207 52.74 112.9 0.1
8 52.7 112.9 90.32 0.207 52.74 112.9 0.0
9 52.8 112.8 90.24 0.207 52.74 112.9 -0.1

10 52.9 112.8 90.24 0.207 52.74 112.9 -0.1

11 53.0 112.7 90.16 0.207 52.74 112.9 -0.2

x-3 HKRE - ATAEPER
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 520 1135 113.5 113.5 15.2
2 104.0 83.7 167.4 53.9 7.2
3 156.0 67.4 202.2 348 4.6
4 208.0 56.8 2272 25.0 3.3
5 260.0 49.4 2470 19.8 2.6
6 3120 438 262.8 15.8 2.1
7 364.0 395 276.5 13.7 1.8
=1i-8
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F-1 RHEGRBIERE RS ERC

B [RERE|HEKRE|LEMNRRE
=B N &% (min) | Q1(m3/s)| Q2(m3/s)[ Q1+Q2(m3/s)
BB KL FWL 143.2|(m) 0| 188.69 3.1 191.8
HILE EL 129.5((m) 1| 107.13 3.1 1102
f=shith 7K %R - H=FWL-EL 13.7|(m) 2 60.82 30 63.8
RETKE:V 20,000{(m3) 3 34.53 30 375
BA7HE(Costa):Qp|  188.69|(m3/s)  [Qp=325(H-V)** 4 19.61 2.9 225
TISEHE:A 0.1030|km2 5 11.13 2.9 14.0
WKERE: A2 0.0030 [km2 6 6.32 2.8 9.2
r=a/(t"+b) 7 3.59 2.8 6.4
HAREEAR BE 8 2.04 2.8 48
FERRER N 0.85 9 1.16 2.7 39
R ERa 7359.61 10 0.66 2.7 33
FERsREXDb 36.1 11 0.37 2.6 3.0

&-2Tr1-r2h0AK 12 0.21 2.6 2.8
PEAR E BIE B fE 33|14 hICIENDESRYER
LAS 13 0.12 25 2.7
RAEEIERT : to 33|43 S AEI ARt i I B 28
HYU’RT 15 0.04 25 25
B ER R R DR FRIRE ¢ 132.3|(mm/h) 16 0.02 24 2.4
HAKREE—Y:Q 3.1|(m3/s) [1/36-f-r-A 17 0.01 24 24
itk E:.2Q 3.72|(m3/s) 18 0.01 2.3 2.3
19 0.00 2.3 2.3
20 0.00 2.3 2.3
,
.A" i ‘f‘. . :
| FiEiA=0. 103km2
il
AT,

0 50

] \ |

1 90 15|0m

A0 003km2 ./ b e

i i \ h \ -

I ) S
| J

TR EE C | mifE(km2) i &
Pat;akiii! 70 0.0030 A FHEEH 7o i 1 P33
L1t 290 0.1000
K H 100
B 200
EHh 70
CEi 0.1030
i E 284
TR AE f [ i &
JitoXii 1.00 0.0030 AEHEE 720 i 1 P33
(it 0.80 0.1000
K H 0.75 0.0000
Bt 0.53 0.0000
Eh 0.85 | 0.0000
CEi 0.1030
i E 0.81
F-2 HKEERME
REDEERRE| AFEE |(AHBRRRE gy | PUKENEESR _
t(5) ri(mm/h) re=f=r;(mm/h) re te(min) 2 n
1 33.0 132.3 107.16 0.195 33.59 131.6 0.7
2 33.1 132.2 107.08 0.195 33.59 131.6 0.6
3 33.2 1321 107.00 0.195 33.59 131.6 0.5
4 333 131.9 106.84 0.195 33.59 131.6 0.3
5 334 131.8 106.76 0.195 33.59 131.6 0.2
6 33.5 131.7 106.68 0.195 33.59 131.6 0.1
7 33.6 131.6 106.60 0.195 33.59 131.6 0.0
8 33.7 1315 106.52 0.195 33.59 131.6 -0.1
9 338 131.3 106.35 0.195 33.59 131.6 -0.3
10 339 131.2 106.27 0.195 33.59 131.6 -04
11 34.0 1311 106.19 0.195 33.59 131.6 -0.5
x-3 HKRE-AITAKFER
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 33.0 132.3 132.3 132.3 3.1
2 66.0 103.2 206.4 741 1.7
3 99.0 85.8 257.4 51.0 1.2
4 132.0 73.9 295.6 38.2 0.9
5 165.0 65.2 326.0 304 0.7
6 198.0 58.6 351.6 25.6 0.6
7 231.0 53.2 3724 20.8 0.5

7 2=-10




A e 114

A : = e‘\ i i | ' .% i /L/% /4/1//7%1&;; §

J
é[,/é

( —000

i}
100 L ﬁ
g
A
/
V/‘ 5 = =
7
06 Y
\; Hip
B




=it & ¥R NTith -3

B KL FWL - (m)

LS EL = (m)

=8 IKi%E : H=FWL-EL 11.7|(m)

WETKE:V 46,000{(m3)

KTt = (Costa): Qp 250.54|(m3/s)  |Qp=325(H-V)°*

JRigmiE:A 0.2380(km?2

/K EE: A2 0.0070|km2

r=a/(t"+b)

1 F R = £181Fr A%

FERsRE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

W H R E EERFR:t 41|45 Iz L5#YIR
LA
F-2Mr1-r2M{EH0

REFHERR tc 41|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 123.5{(mm/h)

HKFEE—Y:Q 6.6|(m3/s) [1/3.6-f-r-A

REHEKGREN.2Q 7.92((m3/s)

150m -

B | REAE | AKRE DENSAE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
o| 25054 6.6 257.1
1 180.70 6.5 187.2
2 130.33 6.4 136.8
3 94.00 6.4 100.4
4 67.79 6.3 74.1
5 48.89 6.2 55.1
6 35.26 6.1 414
7 25.43 6.1 315
8 18.34 6.0 243
9 13.23 59 19.1
10 9.54 58 15.4
11 6.88 57 12.6
12 4.96 57 10.6
13 3.58 5.6 9.2
14 2.58 55 8.1
15 1.86 54 7.3
16 1.34 54 6.7
17 0.97 53 6.2
18 0.70 52 59
19 0.50 5.1 5.6
20 0.36 50 54
21 0.26 50 52
22 0.19 4.9 5.1
23 0.14 438 4.9
24 0.10 4.7 48
25 0.07 4.6 4.7
26 0.05 4.6 4.6
27 0.04 45 45
28 0.03 44 44
29 0.02 43 44
30 0.01 43 43

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0070 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.2310
7KH 100
M 200
E 70
aF 0.2380

faf ES-25) 284

IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0070 A FHEEH 720 M | P33
(L 0.80 | 0.2310
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.2380

faf ESF-25) 0.81

12

REOTIERME GAWLRE |(AMEWRE gy | PUKENEESR _
t(4) ri(mm/h) re=f=r;(mm/h) re te(min) 2 n
1 41.0 123.5 100.04 0.2 41.42 1231 0.4
2 411 123.4 99.95 0.2 41.42 12341 0.3
3 41.2 1233 99.87 0.2 41.42 12341 0.2
4 413 123.2 99.79 0.2 41.42 1231 0.1
5 414 1231 99.71 0.2 41.42 1231 0.0
6 415 123.0 99.63 0.2 41.42 12341 -0.1
7 41.6 122.9 99.55 0.2 41.42 12341 -0.2
8 41.7 122.8 99.47 0.2 41.42 12341 -0.3
9 418 122.7 99.39 0.2 41.42 1231 -04
10 419 122.6 99.31 0.2 41.42 1231 -0.5
11 42.0 122.5 99.23 0.2 41.42 1231 -0.6
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 41.0 123.5 123.5 123.5 6.6
2 82.0 93.8 187.6 64.1 34
3 123.0 76.8 230.4 428 23
4 164.0 65.5 262.0 31.6 1.7
5 205.0 573 286.5 24.5 1.3
6 246.0 51.2 307.2 20.7 11
7 28170 46.3 3241 16.9 0.9
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=it & ¥R HE -3

BB K 5L : FWL 86.0|(m)

LS EL 77.5((m)

=8 IKi%E : H=FWL-EL 8.5((m)

WETKE:V 60,000{(m3)

BAHE(Costa):Qp|  244.94|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0820|km?2

/K ETE: A2 0.0100|km2

r=a/(t"+b)

1 ARE AR HE

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

AR E B BF et 29|19 IR B ESEBYR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 29(4> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 137.3|(mm/h)

HKFEE—Y:Q 2.6|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 3.12|(m3/s)

I - ROMERRER

FelA=0. 082km2

A0/ 010kn2 ey

ALisA=0. 072kn2

F-1 RHEGRBIERE RS ERC

B | REAE | AKRE DENSAE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
o| 24494 26 2475
1 191.73 2.6 194.3
2 150.07 2.5 152.6
3 117.47 25 120.0
4 91.95 24 944
5 71.97 24 744
6 56.34 24 58.7
7 4410 23 46.4
8 34.52 2.3 36.8
9 27.02 2.3 293
10 21.15 22 234
11 16.55 22 18.7
12 12.96 2.1 15.1
13 10.14 2.1 12.2
14 7.94 2.1 10.0
15 6.21 20 8.2
16 4.86 20 6.9
17 3.81 20 5.8
18 2.98 1.9 4.9
19 2.33 1.9 42
20 1.83 1.8 3.7
21 1.43 1.8 3.2
22 1.12 1.8 29
23 0.88 1.7 2.6
24 0.69 1.7 24
25 0.54 1.7 22
26 0.42 1.6 20
27 0.33 1.6 1.9
28 0.26 1.5 1.8
29 0.20 1.5 1.7
30 0.16 1.5 1.6
31 0.12 1.5 1.6
32 0.10 1.5 1.6
33 0.08 1.4 1.5
34 0.06 1.4 1.5
35 0.05 1.4 1.5
36 0.04 1.4 1.4
37 0.03 1.4 1.4
38 0.02 1.4 1.4
39 0.02 1.4 1.4
40 0.01 1.3 1.4

F&-2 HOKEERR]

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0100 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0720
7KH 100
M 200
E 70
‘it 0.0820

faf ES-25) 263

IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0100 A FHEEH 720 M | P33
(L 0.80 | 0.0720
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0820

faf ESF-25) 0.82

14

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 29.0 137.3 112.59 0.191 28.98 137.3 0.0
2 29.1 137.2 112.50 0.191 28.98 137.3 -0.1
3 29.2 137.0 112.34 0.192 29.13 137.1 -0.1
4 29.3 136.9 112.26 0.192 29.13 137.1 -0.2
5 294 136.8 112.18 0.192 29.13 137.1 -0.3
6 29.5 136.7 112.09 0.192 29.13 137.1 -04
7 29.6 136.5 111.93 0.192 29.13 137.1 -0.6
8 29.7 136.4 111.85 0.192 29.13 137.1 -0.7
9 29.8 136.3 111.77 0.192 29.13 137.1 -0.8
10 29.9 136.1 111.60 0.192 29.13 137.1 -1.0
11 30.0 136.0 111.52 0.192 29.13 137.1 -1.1
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 29.0 137.3 137.3 137.3 2.6
2 58.0 108.8 217.6 80.3 1.5
3 87.0 91.3 273.9 56.3 1.1
4 116.0 79.2 316.8 42.9 0.8
5 145.0 70.2 351.0 34.2 0.6
6 174.0 63.3 379.8 28.8 0.5
7 203.0 57.7 403.9 241 0.5
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=& Rith -3

W B R KL FWL 56.4|(m)

LS EL 53.0{(m)

=8 IKi%E : H=FWL-EL 3.4|{(m)

#Erk=:Vv 10,000[(m3)

= RFHE=(Costa): Qp 78.54|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.1700{km?2

/K ETE: A2 0.0110|km2

r=a/(t"+b)

1 F R = £181Fr A%

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

AR E B BF et 28|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 28(4> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 138.6{(mm/h)

HKFEE—Y:Q 3.7|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 4.44|(m3/s)

T RiERIRIER

7 F4BHA=0. 169Kkn2

B | REAE | AKRE DENSAE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
ol 7854 37 79.6
1 49.03 3.6 50.1
2 30.60 3.6 31.7
3 19.10 3.5 20.2
4 11.93 3.5 13.0
5 7.44 34 85
6 4.65 34 5.7
7 2.90 3.3 3.9
8 1.81 3.3 2.8
9 1.13 3.2 2.1
10 0.71 3.2 1.7
11 0.44 3.1 1.4
12 0.27 3.1 1.2
13 0.17 3.0 1.1
14 0.11 3.0 1.0
15 0.07 2.9 0.9
16 0.04 2.8 0.9
17 0.03 2.8 0.9
18 0.02 2.7 0.8
19 0.01 2.7 0.8
20 0.01 2.6 0.8

20. ®ith

0 50 100 150m

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0110 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0000
7KH 100
Hkh 200 | 0.1590
E 70
‘it 0.1700

faf ES-25) 192

IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0110 A FHEEH 720 M | P33
(L 0.80 | 0.0000
KH 0.75 | 0.0000
Bk 0.53 | 0.1590
£ 0.85 | 0.0000
‘it 0.1700

faf ESF-25) 0.56

=16

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 28.0 138.6 77.62 0.218 28.34 138.2 04
2 28.1 138.5 77.56 0.218 28.34 138.2 0.3
3 28.2 138.4 77.50 0.218 28.34 138.2 0.2
4 28.3 138.2 77.39 0.218 28.34 138.2 0.0
5 28.4 138.1 77.34 0.218 28.34 138.2 -0.1
6 28.5 138.0 77.28 0.218 28.34 138.2 -0.2
7 28.6 137.8 7717 0.218 28.34 138.2 -04
8 28.7 137.7 77.11 0.219 28.47 138 -0.3
9 28.8 137.6 77.06 0.219 28.47 138 -04
10 28.9 1374 76.94 0.219 28.47 138 -0.6
11 29.0 137.3 76.89 0.219 28.47 138 -0.7
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 28.0 138.6 138.6 138.6 3.7
2 56.0 110.3 220.6 82.0 2.2
3 84.0 92.8 278.4 57.8 1.5
4 112.0 80.6 322.4 440 1.2
5 140.0 71.6 358.0 35.6 0.9
6 168.0 64.6 387.6 29.6 0.8
7 196.0 58.9 412.3 24.7 0.7
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B [RERE|HEKRE|LEMNRRE x-1 REREfETEEEELRC
=B TEth &% (min)  [Q1(m3/s)|Q2(m3/s)[Q1+Q2(m3/s) HHORE | ¢ | EHiKkm) %
B S K AL FWL 88.4((m) 0 44.86 0.2 45.1 728 70 | 0.0010 R FHEEE T2 M 1 P33
HlS EL 85.2((m) 1 17.15 0.2 17.3 LI 290 | 0.0040
1= Ki%E : H=FWL-EL 3.2|(m) 2 6.56 0.2 6.7 7k H 100
RETKE:V 2,800|(m3) 3 2.51 0.2 2.7 Bl 200
At 2(Costa): Qp 44.86|(m3/s)  |Qp=325(H-V)**? 4 0.96 0.2 1.1 EHl 70
TISEHE:A 0.0050|km2 5 0.37 0.2 05 A 0.0050
WKEE: A2 0.0010|km2 6 0.14 0.2 0.3 T 246
r=a/(t"+b) 7 0.05 0.1 0.2
HAREEAR HEF 8 0.02 0.1 0.2 LHotkie |t i %
ErRsEE KN 0.85 9 0.01 0.1 0.1 pietatiil 1.00 | o0.0010 WS 7eb R P33
EREERa 7359.61 10 0.00 0.1 0.1 (L1 0.80 | 0.0040
ErsEERX b 36.1 11 0.00 0.1 0.1 KH 0.75 | 0.0000
DR EIE R 13]4> A '2) 000 O o e R
LA 13 0.00 0.1 0.1 Bt 0.85 | 0.0000
RAEEIERT : to 3|9 it Chinedr i 14 000 O o o 0000
YT 15 0.00 0.1 0.1 e a) 0.84
B ER R R DR FRIRE ¢ 163.7|(mm/h) 16 0.00 0.1 0.1
BKREE—Y:Q 0.2|(m3/s) |1/3.6-f-r-A 17 0.00 0.1 0.1 R-2 HKEERR
BREHHOKIREN.2Q 0.24|(m3/s) 18 0.00 0.1 0.1 REOTIERME GAWLRE |(AMEWRE s | BUKEIEESRS ]
19 0.00 0.1 0.1 1(%3) r(mm/h) |re=frrmm/m)| " to(min) k Rk
20 0.00 0.0 0.0 1 13.0 163.7 137.51 0.178 13.65 162.4 13
s — . 2 13.1 1635 137.34 0.179 13.73 162.2 13
/ C// 3 132 163.3 137.17 0.179 13.73 162.2 1.1
. 4 133 163.1 137.00 0.179 13.73 162.2 0.9
5 134 162.9 136.84 0.179 13.73 162.2 0.7
6 135 162.7 136.67 0.179 13.73 162.2 0.5
7 13.6 1625 136.50 0.179 13.73 162.2 0.3
8 13.7 162.3 136.33 0.179 13.73 162.2 0.1
9 13.8 162.1 136.16 0.179 13.73 162.2 -0.1
10 13.9 161.9 136.00 0.179 13.73 162.2 -0.3
11 14.0 161.7 135.83 0.179 13.73 162.2 -05
x-3 HKRE-AIAEPE
t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
& e S 1 13.0 163.7 163.7 163.7 0.2
@iz \l, 0 2 26.0 1414 282.8 119.1 0.1
3 39.0 1256 376.8 94.0 0.1
4 52.0 1135 454.0 77.2 0.1
5 65.0 103.9 519.5 65.5 0.1
( 6| 780 96 576.0 56.5 0.1
ik SIP4 “(C) CORE™CORP-(C) FEfitkt 7| 910 89.4 625.8 498 0.1

2=T-18
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~H B & faith &%

B S K AL FWL 312.3|(m)

Ml EL 308.0{(m)

=:H 5.4|(m)

HBEPKE:V 6,000{(m3)

RAFH E(Costa): Qp 76.97|(m3/s)  |Qp=325(H-V)**

FEmEE:A 0.0612|km2

WKERE: A2 0.0007 |km2

r=a/(t"+b)

H RS8R HE

ErARE N 0.85

MERREERa 19.65 2005 R

MErsRE=D 36.1

X B REERERRT T=

WX B REE AR 367.3

HOKFERETHEEYF 0.001
R-2Tr1-r2HohE

P ER R TE 2 B 2351|% hIZBNBE3YER
LAK
FR-2Dr1-r2MEH0

REEZRME :te 2351|% LB E|ERRE R
BUViET

B ERSE R DOBERTRE v 142.2|(mm/h)

HAREE—Y:Q 1.98[(m3/s) |1/3.6-f-r-A

etk EN.2Q 2.38|(m3/s)

= I_'ﬁ %ﬁ/ﬂ",
uu,fjﬁ*ﬁ 0 06km2
ﬁ*ﬁ*ﬂ o 682m2//‘

T - HK

B [RIBRE|HKRE|DENRRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 76.97 1.97 78.94
1| 3565 1.94 37.59
2 16.51 1.91 18.42
3 7.65 1.88 9.53
4 3.54 1.85 5.39
5 1.64 1.81 3.45
6 0.76 1.78 2.54
7 0.35 1.75 2.10
8 0.16 1.72 1.88
9 0.08 1.69 1.77
10 0.03 1.66 1.69
11 0.02 1.63 1.65
12 0.01 1.60 1.61
13 0.00 1.56 1.56
14 0.00 1.53 1.53
15 0.00 1.50 1.50
16 0.00 1.47 1.47
17 0.00 1.44 1.44
18 0.00 1.41 1.41
19 0.00 1.38 1.38
20 0.00 1.35 1.35
21 0.00 1.31 1.31
22 0.00 1.28 1.28
23 0.00 1.25 1.25
24 0.00 1.22 1.22
25 0.00 1.19 1.19
26 0.00 1.16 1.16
27 0.00 1.13 1.13
28 0.00 1.10 1.10
29 0.00 1.08 1.08
30 0.00 1.07 1.07
31 0.00 1.05 1.05
32 0.00 1.04 1.04
33 0.00 1.02 1.02
34 0.00 1.01 1.01
35 0.00 1.00 1.00
36 0.00 0.98 0.98
37 0.00 0.97 0.97
38 0.00 0.95 0.95
39 0.00 0.94 0.94
40 0.00 0.93 0.93

R

bl

=1 FRHEREFERESEESC

i_z I/\7k§|]LH#FEﬁ

TR AE C |mE#km2) i &
pitio¥ii 70 | 0.000680 SRS (7 B P33
(Lt 290 | 0.044500
7K H 100
Bk 200
EH 70 | 0.016000
At 0.061180
faf ) 230
+HhoDIRAE f [iaLi " &
paatakii 1.00 | 0.00068 B EHESH 7= 1 P33
L 0.80 | 0.04450
7k 0.75 | 0.00000
Bk 0.53 | 0.00000
EHI 0.85 | 0.01600
At 0.06120
Tof B 0.82

REOEENM| AR | AAEFRE gy |PUKEIEESRS B
w5 rilmm/h)  [re=fr,(mm/h) re tc(min) 2 e

1 23.514 142.236 116.634 0.18907 23.520 142.227 0.009
2 23.515 142.234 116.632 0.18907 23.520 142.227 0.007
3 23.516 142.233 116.631 0.18907 23.520 142.227 0.006
4 23.517 142.231 116.629 0.18907 23.520 142.227 0.004
5 23.518 142.230 116.629 0.18907 23.520 142.227 0.003
6 23.519 142.228 116.627 0.18907 23.520 142.227 0.001
7 23.520 142.227 116.626 0.18907 23.520 142.227 0.000
8 23.521 142.225 116.625 0.18907 23.520 142.227 -0.002
9 23.522 142.224 116.624 0.18907 23.520 142.227 -0.003

10 23.523 142.222 116.622 0.18907 23.520 142.227 -0.005

11 23.524 142.221 116.621 0.18907 23.520 142.227 -0.006

=R-3 HKRE AIAEHE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 240 1415 1415 1415 1.97
2 48.0 114.6 229.2 87.17 1.22
3 72.0 97.5 292.5 63.3 0.88
4 96.0 85.4 341.6 491 0.68
5 120.0 76.3 381.5 39.9 0.56
6 144.0 69.1 4146 331 0.46
7 168.0 63.3 4431 285 0.40
Hi-20
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